Ws 1 - Limits from Graphs and Tables

1 f(0)=4
2. lim f(x)=4

B lir})‘{ f(x)= Yo
4. lim /(x)= e !
5. leirllf(x) =

6. f(4)= =2

7. f()= Z

8. lilg_f(x):/&f/"
9. lim f(x)= €0

10. lim f(x) = PAE

}?

20. h(-3) = 2
21, lim A
22. lim A
23. lim h(x)= DNE
24. £(2) = |

25. limh(x)= 2.
26. lim h(x)= 1%
27. limh(x)= |4

11, g(-4) = O
12, xl_ig_g(x): y
13. xl_l}r_%g(x): Z
14. }i_ﬂg(x)= Z-
15 }L{g}g(x)= 0
16. }Lrtl)}g(x)= b y
17. {i_r}x&g(x): pNE
18. g(O):.—_ =
19. g(1) =4
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28.

29.

30.
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Fill out the table. Use to find the limit.

_x'-1
F)="7 x 097 |098 |099 |1 [1201 [1.02 [1.03
lim f(x)= 2 f(x) | 2,910 | 2. 9404 | 2970\ | DNE| 3. 0201 | 3.660%| 7,099
x—1*
i =3
it ()
= 2
X
flx)=—F——
( ) Vx+1-1
lim f(x)= 2 X -0.03 |-0.02 |-001 |O 0.01 0.02 | 0.03
e f(x) | 1.9844 | 19594 | {995 |PNE | 2,005 | 2,01 2.0045
lim f (x): 2
x—07
igfl= 2
f _sinx
(x)= x |-003 [-002 [-0.01 |oO 001 |0.02 [003
lim f(x)= { fx) |, 99985 |19992 |. 99992 |TNE |, M98 | <4991 | - T115%]
x—0*
lim f(x)={
x—0"
I (x)=
|24
f0)=— x |-003 |-002 |-001 |0 |00l |0.02 |0.03
lim f(x)= —2 i) = 2 2 |eNE | ~2Z —_2 —~2.
x—0"
Ik 2
lim f(x)= puE
oH, YEAH? YoUR WELL, YOUR MCMMA Boys, I SAD BORRY, MISS
YOUR MoMA THINKS MOMIMA THINKS cGULDN'T INTEGRATE A No TALKING . O'TIALLEY,
STUARE RoOQTS FOLYGDHS TURN NESTED TRIG FUNCTION, TRASH _
ARE VEGETABLES. INTO FROGS, EVEN IF ‘Yol LET HER BEFORE H, MAN, THAT

o)

USE A COMPUTER.
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{ | TESTS,
4 =

LAST onE HURT.




